. proved that $A \equiv \operatorname{End}_A(A)^{\operatorname{op}}$ Last time:

. introduced the algebra

· Constructed the map $\frac{1}{4}$: End $(\frac{e}{V}) \rightarrow \wedge^{w}$

for A-modules U, , -, Ur, where Kj, Ti are the natural such and

. Prove that \$\overline{E}\$ is an algebra iso. Today:

Prove that for each i in $A = \bigoplus_{i=1}^r \bigoplus_{j=1}^{N_i} S^{(i)}$, A.s.s. $S^{(i)}$ simple $A = \bigoplus_{i=1}^r \bigoplus_{j=1}^r S^{(i)}$, A.s.s. $S^{(i)}$ simple $A = \bigoplus_{i=1}^r \bigoplus_{j=1}^r A_i S^{(i)}$.

Where $D_i = \bigoplus_{i=1}^r A_i S^{(i)}$.

- deduce A.W. (with uniquenes,)

$$\pi_{i\circ}(\alpha\beta+b\delta)\circ K_{j}=\alpha(\pi_{i}\beta K_{j})+b(\pi_{i}\gamma K_{j})=\alpha(\beta_{i}\beta+b\beta_{i}\beta_{i})+b(\beta_{i}\beta_$$

· F is multiplicative: If B, & Endy (v), we have $\overline{\Phi}(\beta) \, \overline{\Psi}(\beta) = \overline{\Psi}(\beta \gamma)$ since ...

$$\begin{split} &\left(\tilde{\Xi}(\beta)\tilde{\Phi}(r)=\tilde{\Xi}(\beta\sigma)\right): \quad \left(\begin{bmatrix}\beta\\\delta\end{bmatrix}\tilde{v}\right)_{ij}=\sum_{\kappa=1}^{r}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{k}\sigma_{kj}=\sum_{k=1}^{r}\tau_{ii}\beta_{ik}\sigma_{kj}=\sum_{k=1}^{r}\tau$$

Where are we now? Given S.s.
$$A = \bigoplus_{i=1}^{n} S_{i}^{(i)}$$
, we have

$$A = \operatorname{End}_{A}(A) \circ P = \operatorname{End}\left(\bigoplus_{i=1}^{n} S_{i}^{(i)}\right) \circ P \qquad \text{Supples}$$

$$S'' \circ S'' \circ S'$$

$$2. \qquad \bigwedge^{(i)} \cong M_n(D_i)$$

Note that the "i" is superficial: it suffices to show that for iso.

Simples $U_{i,}$ —, $U_{n,}$ $\bigwedge^{(u)} \cong M_{n}(D)$ where $D = \operatorname{End}_{A}(U_{i})$.

($U_{j} \Leftrightarrow S_{j}^{(i)}$)

Of ($u_{n,i} \neq S_{i}^{(i)}$)

Of ($u_{n,i} \neq S_{i}^{(i)}$)

Of ($u_{n,i} \neq S_{i}^{(i)}$)

Pf: (main rdea) $\forall 1 \leq j \leq n$, pirk an midule iso $\forall j_1 : U_1 \rightarrow U_j$ and let

 $\phi_{ij} = \phi_{jl}^{-1}$. Take $\phi_{ii} = ld_{u_i}$. Consider the map

 Consequence:

$$A \stackrel{\sim}{=} \left(\begin{array}{c|cccc} \Lambda^{S(1)} & 0 & 0 \\ \hline 0 & \ddots & 0 \\ \hline 0 & 0 & \Lambda^{S(r)} \end{array}\right) \stackrel{\circ P}{=} \left(\begin{array}{c|cccc} M_{n_1}(D_1) & 0 & 0 \\ \hline 0 & \ddots & 0 \\ \hline 0 & 0 & M_{n_r}(D_r) \end{array}\right)$$

lnear alg.

$$\stackrel{\downarrow}{\cong} \left(M_{n_{1}}(D_{1}) \times \cdots M_{n_{r}}(D_{r}) \right)^{op} = M_{n_{1}}(D_{1})^{op} \times \cdots \times M_{n_{r}}(D_{r})^{op}$$

$$\stackrel{\cong}{\cong} \left(M_{n_{1}}(D_{1}) \times \cdots \times M_{n_{r}}(D_{r})^{op} \right)^{op}$$

$$\stackrel{\cong}{\cong} M_{n_{1}}(D_{1})^{op} \times \cdots \times M_{n_{r}}(D_{r})^{op}$$

Careful statement, corollaries, examples: next time!